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Ciass ; Primary 5 §Y/CIGISE/P Timma : 2 h 158 min

Questions 1t 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For sach
auestion, four options are given. One of them is the correct answer. Make your choice
(1,2, 3 or 4). Shade the comrect oval (1, 2, 3 or4)on the Optical Answer Sheeot.

1. Write in figures - 600 thousands, 40 hundreds and 15 tens.
(1) 60C 415

(2} 604 150
(3) 640 150

{4) 841 500

- . ; . [ S 1 3 5
Z. Arrange the following inascending order — , — , -, —, —
. 12 2 3 4 6

11 300101

1y =, 3 A

12674723

1t 3 5 11

{.2}' T T T T el

iz 4 6 3 -2

o1 3 5 1

@) ..o

3-2 4 o 12

1 1 3 1 5

By = 2.

3 2 4 1% o6

3. Divide 89.16 by 3.

(1) 297.2
(2) 29.92
(3) 29.72
(4) 27.72
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20cm —— — ¥
- — A

A

The above figure is made up of 8 identical triangles.
What is the shaded area of the figure?

(2) 60 cm?
(3) 120 om”
(4) 240 cm”

(1) 30cm

What is the total volume of the three 6-cm cubes?

36 cm®

108 cm®
218 cm’
648 o

r— . —— .
Lo (WO M)
e S Yt e

A carpenter saw a plank 6.48 m iong into 3 equal pieces. What was the length of
each piece of piank?

(1) 2.16 cm
{Z) 2.03m

{3y 213 cm
(4) 2.16m

s

(=23
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fhrough how many right angies does the minute hand um in ene hour?

(1)
(2)
()

@)

B P

The average mass of five boys is 52 kg. The first 4 boys have a mass of 43 kg, 60 kg,
55 kg and 49 kg respectively. What is the mass of the fifth boy”

(1) 52 kg
(2) 53 kg
(3) 57 kg
(4} 63 kg

The ratic- of the amcunt of crange syrup to the amount of water used in making an
crange diinkis 3 : 7. if 900mf of orange syrup was used, how much water was used?

{1) 360 mi
{(2) 450 !
(3) 630 mf
{(4) 2100 mf

1
Express 20 as a percentage.

(1) 5%
2) 10%
3) 15%
(4) 20%

Jessie is 12 years younger then her cousin. in 2 years’ time, her cousin will be 30
years old. How old is Jessie now?

16 years cld

//(/(‘;2;; 18 years clid
w

20 years old
26 years oid

w s



13.

+i0-35

&

9 mangees cost$24:38- How much do Frmangoes cost?

(] $2.70

2 $17.20
‘ $17.9
‘147 $218.70

The line graph shows the total number of books sold in the first 6 days of ts launch.

Numbaer of books

1500 1
1400 |
1200 4
1000 £
800 +
g0 £
400 -4
260
D -

3rd

In which day did the number of books sold decrease the most, when compared
{o the previous day?

M
(2)

The diagram below is not drawn to scale. ABD is an isosceles triangle and ABC is a

Pl T

Pl S |

(1}
(2)
(3}
A\~

(4)

6o°

115°
130°
140°

ight line. Find .~ DBC.
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15. Mr Chong and his family ordered dishes at a restaurant wiich amounied o $210
in ail. The restaurant charges 10% service charge and 7% GST. How much did
Mr Chong pay for the meai?

iy $224.70

7

2y $231.00
437 $245.70
A $247.80
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Class : Primary {SY/CIGISEP Time 1 2 h 15 m

Bookiet B {80 marks)

Questions 16 to 25 carry 1 mark each. Questions 26 to 35 camry 2 marks each. B0 not wiite
For each guestion, write your answer in the space provided. n Yiis column
Give your answers in the units siated.

16.  Find the value of 60— 15+ 5 x 2.

“Ans:

5
17.  Express '31 in decimals. (Rounded off your answer to two decimal places)

Ans:

18.  What fraction of $45 is $37

Ans:

150

2

N
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19 Given that the volume of the solid is 2456 om?, find the height of th i,
e 1
13cnt” l 7 height
vl
[
-4~ — t6om — ———>
Ans: CIT
20.  Mrs Foo soid rambutans on Monday and Tuesday. If the amount of
rarnbulans sold on Tuesday is twice the amount soid on Monday,
how much will she have sold akogether if she sold 1500g of rambutans
on Tuesday? '
Ans: kg q
shade
21, Whatis the area of th%riang e’?
icm
b
A
1cm l

s

Ansi_____ _xm

Page 7 of 22
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22. Draw a line perpendicular 1 fine AB that passes through point X
B
//
e
-
—

3=
%
>

23. Find the valus of 2 a.

Ans:

24. A friit seller peeled 6 oranges in 3 minutes. What is the average number of

oranges she neeled in a minute?

Ans:

Do not wite
in this gotumn

Page 8 of 22
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25.

Aini gave 35% of her marbles to Bala. What fraction of hey marbles had
shie left? '

Guestions 26 to 35 carry 2 marks each. Show your working cleariy in the
space bejow each question and write your answers in the spaces provided
For guestions which require units, give your answers in the units stated

Mrs Wong spent half of her money on a handbag and the rest on 4 similar

26.
purses. If each purse cost 522, how much did she have at first?
Ans: $ _
27 MrWu spent 1 h 20 min to wash his car and then anothar 55 min to polish

it. If he finished cleaning his car at 11.35am, at what time dic he start

T e

cleaning his car?

w2 ) Ans:

Page 9 of 22

o not write
11 this column




A water boitle costs $16.20. A piasiic bowi costs if}

water hotila, VWhat is the iotal cost

i

of a water botile and a plastic bowl?

Ans:

as much as a

R U ————

Do not wiite
In this colurm

29.

What is the length of the erase?

v

L

===

5

i

7

i

T

8 g 1¢ 11 12 13 14 45 16 17 18 19

T

Ans:

\\\“

cm

AN

Page 10 0f22 ,
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a0 The line graph shows the sales of donuis at a donut factory in one week.
Study the graph carefully.

Numher of donuts
[=3]
o
&3
!
/
™

Sun Mon Tues Wed Thsr Fri Sat

(a) What is the diﬁerehce between the most number of donuts sold in a day,
and the least number of donuts sold in a day?

: Lrom Pon™® 8ok 7
(b) What was the average number of donuts sold-ferthatweelk?

(&)

31.  In the figure not drawn to scaie, AD and BC are straight lines. Find ZABO.

A B

155

Ans: °

Page 11 of 22
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3Z.

33.

A pail with a capacily of 5.25 s put under a dripping tap.
After 20 minutes, the paii becomes half filled. At what raie is
from the tap? (Give your answers inl / hr)

Ans:

waier dripping

I/ hr

Mr Raju can rmmake an average of 20 roti pratas in 15 minutes.

His assistant can make 1 prata per minute. At these rates, how long does
it take them to make 140 pratas if they start making the pratas at the same

time?

Ans:

34.

Harry, Billy and Meviile bought some computer games and shared oul the

coslin the ratic 5 @ 4 © 1 respectively.  if Harry paid $36 moere
how much ¢id the computer games cost?

than MNevilig,

35.

Deborah bought a refrigerator at a discount of 30%. She paid $621.60 for

it. What is the original price of the refrigeraior?

Ans:

Page 12 of 22
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Class : Primary 3 SYCIGISEP Time : 2 h 15 min

VWrite your answers to questions 3¢ to 48 in the spaces provided. For each question,

show your working clearly in the space provided. The number of marks available is
shown in brackets at the end of each question or part-guestion.

36. Linette bought 2 dolls and 5 books for $154. Each doil cost 3 times as
much as a boolc
(a) Find the price of a doll.

fEa %

{t} Find the difference in price between a doll and a book.

Ans @ {2

w D

37.  Three girls, Anna, Beatrice and Calista shared a roll of nbbons.

Anna’s share was %Of the total iength of Beatrice's and Calista’s ribbons.

5]

Beatrice’s share was ; of the total length of Anna's and Calista’s ribbons.
D

If Anna’s share of ribbons is 45cm less than Beatrice's share, what is the

totai iength of the roll of ribhens?

Do not wrile
in this cotuns



38,

Figure ABCD is a rhombus. AC and BD are straight lines. AC = 10cm,
R = 14Gi

{ Do not wiits
(aj Find £ OAD. (im)

In s cotumn

(b} Find the area of triangle DOC. (7

A

Ans: (a)

(b)
39.

The mass of a basket of lychees was 27 kg. Some pineapples that were
placed in a similar basket had a mass of 21 kg. The mass of the
1

pineapples was - ihe mass of the lychees. Find the mass of the empty
bask_eﬂ

Ans:

=

kg

Page 14 of 22



40. {a) Shade a unit shape of h

al i
f 2 - " T Do not wiite
{b) Extend 4 more unil $napses ot wii

~ Mo ey %
In s codumn

assealiation. (1)
}

"(.n

P ] P> 3 - a L | ] a [ > <] & »

* [ 3 o T

e -
_ \ \
& ] ® @ - \,,\ - - L] o @
/"—“\‘\v/\

-
» 2 » n\ E Ya\% » ] o " - w

o= @ - B 9 @ ‘ L3 - - L3 @ % 2

) /\/k .

Py ° i?"_ & \/ @ @ o @ » ® L8 A4

- a S -_-,. - C a L3 u ) > L3 L. -3 [ 3
-4 - a * -] L -3 a k-] o > = = £ -]
'

& E] =) = k-] ki o & @ & 3 & B ] &

41.  Shelley saved 10% of her monthly salary and spent 20% of the rermainder
on room rentat every menth. If she spent $4320 on reom renial a year, how
much does she eamin a month?

Ans: - {3)

Page 15 0f 22 =
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o

b : = i
i nd 8 mugs of water 1o Hit up 2 fish lank. The capacily ofa
it takes 3 jugs and 8 mugs of waler o i : A { S
mug is ! the capacity of a jug, what is the capacity of the fish tank given 2 In this columa
q . r
i i
Fit 7 ~ . n
that a jug can hold 0.757 pi water? |

) - 4

& Ans: (4) | {

Page 16 of 22



43.

BO0 grsoooens R N
- T
500 e I P N _
w § 1 b AN
= 400 = B . ~
S 360 - X&_\
o i oy
L
E 200 _
:3 -
z
100 4
.
Mon Tues Wed Thur Fii

5
)
&
<.
)

The graph shows the number of pupils who visiled a canieen stali i

(2)

(b)

(c)

What was the difference between the greétésit number and the smallest
number of pupils who visited the stail?

On which day was the number of pupits who visited the stall % of the number

of pupils who visited ihe stall on Monday.”?
What is the average number of pupiis who visited the stall per day?

Ans: (&)
(b}
(c)
Page 17 of 22 a
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44{a} Construct a tiangle ARC such that AR =7 cm , BC =5 om and Dio ot wiite
in this column

44(b) Given that AB is the base of the triangle, draw and measure the height of

the triangle ABC. (2)

Ans: {b) Citl

Page 18 of 22



45,  Rachel bought 4 times as many key chains as pencil cases. She spent
$180.60 in total and $56.70 more on key chains than the p ncil cases.

—~

The pencil cases cost $1.20 more than the keychains. i
Jey- chatn.

Wi
o4

_’&nSi

e
nd

the cost of 5

(5

Page 19 of 22
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46 (a) The ratio of the shaded area to the unshades area is7 L2
ind the area of the unshaded area

Ans: (@) 23
(b) A strip of rectangular paper was folded as showi helow.
Find the perimeter and area of the strig.of paper.
rd*—ﬁ“w a
i\
l; . | 5cm
Zen l
A S
| 3cm
2cml
(5 ' ' Ans: Perimeter. -
i Area: M

e

Page 20 of 22
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47.

A rectangular tank with a base measuring 22 om fong and
with watier. A tap filis the tank up at

oo

',‘_—.

rate of 2Umi per

Ans:

minule. i
e filled to the brim, what was the

Page 21 ¢of 22

o net write
in this column



48, There were some red, blue and white halls in 2 box. Afier 10 red balls and
1o blue balls was

4 9. When 16 more white balls were added in the box, the ratio of biue

1o white batls was 3 © 4. It there wete 44 white bails at first, what was the

ratio of red, to biue, to white balis at first?

IS'T Ans: {5)

. END OF PAPER
PLEASE CHECK YOUR WORK

Page 22 of 22
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SCEGS Primary School

Primary 5 Maths SA2 Exam 2007)

QI > G Q4 Q5
2 3 3 3 4
06 (7 Q8 Q9 Q10
4 . L4 2 4 I
Qi1 Qrz Q1 14 _Qls
1 2 2 2 3
6. 54 17. 1.67
2 .
18. G 1%, 12Zem
20, 2kg 25lg 21, iScem?
22, 23, 4a°
13
24, 2 25, 20
26. 3%176 27. 9.20am
28 $17.82 2%, 10.60m
3a Most = {040
Least = 4030
Different = 1600 — 400 =600
30h. Total = 500 + 400 + 602 + 500 + 906 -+ 1000
= 3900
Average = 3900 - 6 = 650

Page ] of 5
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36a.

36b.

37.

33a.

38b.

L3 = T
Ly = (@600 — 780 — ) 1 2
1ine

JABO = 180° - 110° — 55° = 13°

L. CaLk

li

T.&7

I hour

ju = %154 < 11 = 514
214 % 3 = $42 (Dolh

s
=

|
oo

1u = $14 (Book)
3 = $42 (Deil)
Different = 342 — § 14 = $28

225cm

Sx = 1867 — 96° — 30° = 64°
Ly = (368 — 5° — 80 + 2
.=

ZOAD = 180° — 90° — 30° = 60°

0C = 10em — Z = Scm
OD =idem — 2 = Tem
1
Area of DGC = E x5 x 7 = 175w’

iu = 27kg — 21kg = Gkg

3n = 18kg
Basket = (21 —18)kg
= 3kg

Page 2 of 5



4

42.

43a.

43b.

43¢,

32 mionths = 54326
1 month = 3350
20% of remalnder = $360
100% of remaindey = 33668 x 5

= Z1800
96% = $1868
16% = FZO6
166% = 52640
5
— mug = 0.751
5
1 s mp -
zmﬂg = 0758 = 5 = 03151

3jugs = 8758 x 3 = 2.25¢
Bmugs= G.15f x 8 = L2}
Capacity of fish tank = 1L20¢ + 2.25¢

Greatest pumber = 550

Smaliest number 2568

Pifferent = 550 — 258
= 300

5

— = 540

5

i = 100

5

4

— = 400

5

400 = Tuesday

Total = 500 + 400 + 350 + 550 + 250 = 2050

Average = 2650 + 5
= 4310

= 3.451

Page 3 of 5



K Y

Total cost of KC = 51

$56.70

80.90 — 56.70) = 2

= $62.10 + 356.70

Fvery PC equals 4 K

vl

4 of KC = $118.86
Inof KC = § 29.70
laof PC = § 62,10
Different = 3$62.19 —
= $32.40
MNo. of sets = §32.40 —
1 PC = %6210 <+ 27
1 KC = $2.30 — 31240

$118.80

$29.76
$1.20 = 27

= 52.30
= 51.10

Page 4 of 5



d6n.  Whole triangle = — % 8 x 9 = 36cm”

g = 36 - 9 = dew?
Unshaded = 4 3 2 = 8emp?

46h., Length = 5+ 3 + 2 = 12
Breadth = 2un
Perimeter = 12 + 12 + 2 + 2 = 28em
Area = 12 x 2 = 2dewm’

47, 5—hrs = 32mins

L] —

Filled up = 320mins x 28mt = 6460mi

Height of tank =

48. 15 225 : 2
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